te 0"‘430\ axr ’?F\S‘Y\

%)
L% 3= ¥hr2al N= Bh
. g 2= 1D 1n% h* bin
A pe2ia2e

D 9\’—' 5 w2 \f—;QO‘”\mX ‘Olf\}
P = Han
\'\"— b o

B Lo
RERA®))
B 10N

= e (Lo '.r\\) +2(10'\n”'>

T 31 0e? + 20 A

\qj \‘&(}\'m‘su\w ’Dﬁ_ S M
S Ph + 28

S = (1Be\u S +2 (2025 )

- 9&*3\9 SRR LLO.SN\Q—
&7\—\.§ L —

P- 22 18 (S - 121 5w
¥ooge N = Bh

= 50.25 w2 (H.Sw)

- 4ys ™
)t NG ECTATSS

%—;L\_gl B>20.2mr




N>
S=me Ao Nz e f:-]z )
‘(‘—'536 &"\363 rff’S\\B& = U=y
U (DT (EY NE A (Y 0
= w4+ 25 N - ,\éb,g)(\z)n

S = 9T yd™> V - 1007 44>
S n 23 zum N ox g 29870

?(‘-\Sm L’h"m [\3\)\01'>

_g,c £ o S - ?,Q-\-\—ZB
. — ' LS C.H\)“")« (2"‘\ ‘JY“L>
(‘D:%\'\S’l\'S?: /S D-L‘\C = n
P - Ceom? Bom +\D em N - 1200 + 1B am
P24 e (S5 16T e
//

h=5 o™

- A %h \ = g% L >

> . 2 (S

b-§& h= b Nz R e

3
=5 (3XS) Vs 120 e




5= (D) 256
S = 544 + 256

P Uolefe SR [

_‘____________,.-z-"/
Pe M
= V= 5(256015)
=A% I ———
— / 1230 [t° 5
B> 25k ("

o) (=TT egin
omem Q= 2TC & 2WE
S A (SY10) + 2w (S

S = 00w + 3OW
N VSO W W

(S RuUH. 2w




